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1. Which of the following most directly describes the mechanism of action of digitalis?
[A) Stimulates production of cAMP.
(B} Drecreases intracellular sodium concentration.
(C} Inhibits sodium-potassium ATPase.
{D) Decreases release of caleium from sarcoplasmic reticulum.
{E} Increase the intracellular level of ATP.

2. All of following respond to treatment with benzodiazepines EXCEPT:

{A) Tetanus.

(B) Schizopluenia.
{C) Epileptic seizure.
{D) Insommnia.

{E} Anxiety,

3. All of the following statements are correct EXCEPT:

{A) Phenytoin causes less sedation than phencbarbital.

(B) Phenytoin is not indicated for children under 5 years of age.
(C) Phenytoin is not effective for absence seizure.

(D} Ethosuximide is effective for status epilepsy.

(E} Diazepam is effective for status epilepsy,

4. Cinchonism 15 a syndrome associated with:
(A} Digitoxin.
{B) Phenytoin.
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{[}) Propranolol.
{E) Quinidine,

The effect of a therapeutic dose of guinidine on the normal ECG includes:
(A) Animtal lengthening of the PR interval followed by a shortening.
(B) An inital decrease in heart rate followed by an increase.

(C) A widening of the QRS complex.

(D) A shortening of the QT interval,

(E} An inversion of T wave.

The following limit the clinical usefulness of digitalis EXCEPT:

(A) Narrow margin of safety.

(B) Low potency.

(C) Vanalions in bioavailability,

(D} Tendency to produce arrhythmias.

(E) Paticnt-to-patient variability in sensitivity of the heart to digitalis,

All of the following contraindications are correctly matched with the therapeutic agents
EXCEFPT:

(A) Essential hypertension-Verapamil

(B} Heart failure-Verapamil.

() Atrioventricular (AV) block-Diltiazem,

(D) Cardiodepression-Felodipine.

(E) Advanced aortic stenosis-Nicardipine,

All of the following are side effects of nitrovasodilators EXCEPT:
{A) Hypotension.

{B) Reflex tachycardia.

{C) Headache.

(D) Lupushike syndrome.

(E) Tolerance.

Which of the following drugs is the first choice for the treatment of complex partial seizure?
{A) Phenobarbital,

(B) Ethosuximide,

{C) Phenytoin.

(D) Yalproic acid.

(E) Diazepam.
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Which of the following statement is true?

(A} Augmentation of GABA promotes seizure initiation,

(B} Barbiturates and benzodiazepines interact with GABA receptor/channel complex.

(C) GABA is an excitalory neurotransmitter in the CNS.

(Dv) Spike-wave discharges recorded on the EEG are associated with tonic-clonic seizures.
(E} During seizures extracellular potassium falls,

The drug of choice for absence seizures is:
{A) Phenytoin.

{B) Carbamazepine.

(C} Phenobarbital,

(D) Ethosuximide.

(E} Primidone.

All of the following statements are correct EXCEPT

(A) Atropine blocks cholinergic pathways in the stnatum,

{B) Deprenyl inhibits monoamine oxidase B and increases dopamine levels in brain,

(C) Bromecnptine directly activates dopaminergic receptors.

(D) Amantadine inhibits the matabolism of L-dopa.

(E) Antimuscannic agents are generally less efficacious than L-dopa in the treatment of
Parkinson's disease.

Which of the following statements 1s CORRECT?

(A) Chlorpromazine is useful adjunct to L-dopa therapy,

(B) Vitamin B6 increases the effectiveness of L-dopa.

(C) Administration of dopamine is an effective treatment of Parkinson’s disease,

(D} L-Dopa-induced nausea and vomiting are reduced by carbidopa.

(E) Concomitant administration of L-dopa and monoamine oxidase intubilor prodice a
"hypotensive crisis.

Which of the following is not a common symptom of opiate withdrawa)?
{A) Convulsions

(B) Lacrimation and rfhunorrhea

(C) Nausea and vomiting

(D} Abdominal cramps

(E) Insomia

The problems of cocaine abuse are most similar 1o those of -
{A) Heroin abuse,
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(B) Manhuana abuse.
(C) Amphetamine abuse,
(D3} Alcoholism.

{E) Secobarbital abuse.

Which of the following is the most clinical use for amphetamine?
(A) Anxiolytic

(B) Hypnotic

(C) Ancretant

(D) Anti-epileptic

(E) Anti-psychotic

Asciles resulung from excessive alcohol intake is most likely caused by :

{A) Increased osmolanty of the blood.

(B) Increased blood uric acid concentrations.
(C) Increased magnesium excretion,

(D) Obstructed venous return.

(E)} Increased blood lactate concentrations,

Which 1s considered the most suitable glucocorticoid in the treatment of seplic shock”?

{A) Cortisol.

(B) Prednisone.

{C) Prenisolone, -
{0y Dexamcthasone.
(E) Methylprenisclone,

Which compound is not an estrogen?
(A} 17p-estradiol.

(B} Estriol.

{C) Levonorgestrel.

(D} Diethylstilbestrol (DES)

{E) Estrone.

Gynecomastia may occur during treatment with all of the following EXCEPT:

(A) Flutamide

{B) Cimetidine.
{C) Finastende.
(D} Spironolactone.
{E} Testosteronc.
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Antimetabolites frequently act to kill cells in which phase of the cell cycle?
(A) M phase (mitotic phase).

{B) G, phase.

(C) S phase (DMA synthetic phase),

{D) G; phase.

(E) Phase nonspecific.

Which of the following diseases is potentially curable with combination chemotherapy even
when both the liver and lung are involved by metastatic disease?

(A) Breast cancer.

{B) Hodgkin's disease.

(C) Colon cancer.

(D) Non-small cell carcinoma of the lung.

{E)} Stomach cancer.

The prevention of graft rejection by cyclosporin is attained by the following mechanism-
(A) Inhibition of cytotoxi¢ T-lymphocyte generation.

(B} Inhibtion of graft cell proliferation.

(C) Selective enhancement of B-lymphocyte production of antibady.

(1) Inhibition of innate immune responses.

(E) Selective depletion of CD3-bearing T lymphocytes,

Which of the fallowing B-lactams would be an appropriate agent to treal mentngitis caused by
a [i-lactamase-producing Haemophilus influenzae?

{A) Ampicillin.

{B) Cefazzlin,

(C) Piperacillin.

(D) Cefotaxime.

(E) Cefoxitin.

Which of the following aminoglycosides is most resistant to inactivation by
aminoglycoside-inactivating enzymes?

{A) Streptomycin.

{B) Neomycin.

(C) Gentamicin.

(D) Amikacin,

{E} Tobramycin.




